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Every discrete space is not a regular space.
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Which of the following statement is false?

Every metric space is normal space.
O

Every metric space is second countable.

Every metric space is Hausdorff space.
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Which of the following statement is true?
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B with indiscrete topology is compact.
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K with cofinite topology is not compact.

E with discrete topology is compact.

[ with usual topology is compact.
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A set X with cofinite topology is compact.
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All the metric spaces are not normal spaces.
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Image of a compact space under a continuous map is
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